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Question: 26

Which component is required to use VMware Distributed vSwitches (vDS)?

A. VMware NSX-T
B. VMware SD-WAN
C. VMware Identity Manager
D. VMware vCenter Server

Answer: A 
Reference:
https://www.altaro.com/vmware/vsphere-distributed-switch-guide/

Question: 27

Which three solutions does the software-defined data center (SDDC) help build? (Choose three.)

A. Native cloud
B. Secure cloud
C. Hyperscale
D. Hybrid cloud
E. On premises
F. Public cloud

Answer: DEF 
Reference:
https://www.vmware.com/solutions/software-defined-datacenter/in-depth.html#delivery-options

Question: 28

A customer is planning to utilize NSX-T Data Center security services while maintaining current security services providers.
Which two features can help the customer achieve this kind of integration? (Choose two.)

A. Guest Introspection
B. Distributed Firewall
C. Network Introspection
D. Gateway Firewall
E. Intrusion Detection

Answer: BE 

Question: 29

A customer needs to secure its micro-services.
Which feature does NSX Data Center offer to help achieve this requirement?

A. Micro segmentation enforcement at container level
B. Integration with third-party vendors
C. Service Insertion for Containers
D. Easy Operation of Containers

Answer: A 
Reference:
https://www.agilis.com.tr/vmware-nsx-data-center.html

Question: 30

What is one way to access the NSX Manager?



A. vSphere Client with a supported browser
B. NSX UI with a supported browser
C. NSX Manager via Telnet
D. NSX Manager through a dedicated fat client

Answer: B 
Reference:
https://docs.vmware.com/en/VMware-NSX-Data-Center-for-vSphere/6.4/com.vmware.nsx.admin.doc/GUID-CE5C4FD1-CFA7-49F3-B170-
BC08CC15A9FB.html




